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RAILWAY RECRUITMENT BOARDS
Yo st s

RRB NTPC 31st March 2016 Shift 3
Roll No: 11318004120144
Participants Name: DABHI HARDEEPSINH MAHENDRASINH
\Test Center Name: \iON Digital Zone iDZ, Vallabh Vidhyanagar

Test Date: 31/03/2016
Test Time: 4:00 PM - 5:30 PM
Subject: RRB NTPC Graduate

1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q.1 W ouBds Bl ‘ol ued ‘v, Al wd A Al A, Bl 81+ 3% 6+ 15+ 3 4 Hed
il Question ID : 988837798

A -3 Status : Answered

8.3 Chosen Option : 4

C.6

D. ¢
Ans X' 1B
X 2.D
X 3.cC
W 4A

Q.2 144 Ul 2 5o €l5 3.22.50 ol £ wWilecunl el L AR £2 Ullet €ls 3.2.2501 £l Aucuni
wAd, dl agell esiaudl g B2 Question ID : 988837778

A 12% Status : Answered
B. 17.5%
C. 20%
D. 25%

Chosen Option : 1
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Ans  of 1. C
X 2.8
X 3A
/< 4.D
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Q.3 x @Ay Az 51 6 Rl yd 53 ad B, A wot x Ascdl A 51dA 9 Rl Yl sdl b, ALy AR s
Ascll 52l bael Rau cwadlr

A 15
B. 12
c.18
D21

Ans X' 1B
v 2c
K 3A
X 4.D

Question ID : 988837772
Status : Answered
Chosen Option : 2

Q4 wdcld (Aardvark) sl WEEs (Aardwolf), UA A 30 dsleld B2

A, udald 1iastdl (sUlelar) B wal wdqges wsisldl (sellar) B
B. vldalty s B ol WS es AW (5l8ell) B 3l B
C. uldald Geur (AMXCUet) ual wSges usldl B B
D. vldau’ wsielRl B ua wdges Fdeel (sRAFRAR) B

Ans  of 1.8
K 2.A
X 3.cC
X 4.D

Question ID : 988837729
Status : Answered
Chosen Option : 3

Q.5 A olldsu wlls2eA Wy wetad slat dl Aniall su Addlell weal weel s2euell 32 B2
4-13:7+6+7x1=5
A x e =
B. — Ual x
C.+ ¥a -
D. + ual =

Question ID : 988837799
Status : Answered
Chosen Option : 2

9/3/2016 9:27 PM



file:///C:/Users/RAHUL/Desktop/QP/rrbntpcpapers/Qp (2).html

Ans X' 1B

Q.6 As Hiotcl ALNHL A5 WYl (Involuntary muscles) ... Hl gl & ;
Question ID : 988837756

A. 320 (Limbs) Status : Answered
B. HOlY Chosen Option : 4
C. &€

D. %™

Ans X' 1B
X 2.D
A 3A
W ac

Q7 5 (10)*+6 (10)°+4 (10)-3 (1/100) =7 Question ID : 988837763
Status : Answered

A. 54,060.03 Chosen Option : 4
B. 54,309.97
C. 56,407.00

D. 56,039.97
Ans X' 1.C
X 2.8
X 3A
W 4D
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%% SlAA (DNA) A Yl ude] 518 98 uLsy? Question ID : 988837750
Status : Answered

A. %5&5 mé‘[? Chosen Option : 4
B. Wcdal SIAA
C. slud ldet

D. B clledel uUA 51-AU (33
Ans X' 1B
v 2A
X 3.cC
&S 4D

%% oflAell Avletl A2ell HEALS (mean) 20l Question D :983837791
224 30 511.3.2 Status : Answered

Chosen Option : 3

A.O
B.:3
C.25

D. 2.4
Ans X1 A
S 2.B
5 3D
W ac
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010 AR At (AESTIVATION) Wa@ §?

A. YAl [ABadl, Yyidia
B. UlRU5etl AUGUA HeY
c. wellll euel

D. loilcl2UHL W5 dolss
Ans X' 1.B
W 2A
X 3.cC
& 4D
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Question ID : 988837726
Status : Answered
Chosen Option : 4

Qll 1+tan?20="?

. cot’d

sec?20

sec 26

o o0 W »

. cosec0

Ans X" 1. A
v 2B
X 3.cC
S 4D

Question ID : 988837788
Status : Answered
Chosen Option : 2

Q.12 #e-WAMs 36 B AHIoA A-AAMs 561 sctl (Azgeu e wd B, A.....adld Aawa B

A. \nmaﬂ{ (Positrons)
B. WRA22 (Antimatter)
E: aélu?:i (Photons)

D. uq[aﬂﬂ%l (Neutrinos)

Question ID : 988837755
Status : Answered
Chosen Option : 2
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Ans X' 1.C
K 2.A
3B
< 4D
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Q.13 5 geueA 12790 Agiel £l TaeuHl A B, A A BHAR 3.25 ol WA AL A A3 327 28 sl
Sl A genetell Uscr BEue gldl

A. Rs. 140
B. Rs. 175
C. Rs. 160
D. Rs. 125

Ans X' 1.C
W 2D
5 3A
S 4B

Question ID : 988837779
Status : Answered
Chosen Option : 2

Q.14 Statements followed by some conclusions are given below.
Statements:

A. Some chocolates are bitter, some are sweet and some taste sour.
B. All bitter chocolates are dark and some white chocolates are sweet.

Conclusions:

I. All dark chocolates are bitter.
II. There is at least one sweet chocolate that is white.

Find which of the given conclusions logically follow from the given statements.

A. Only conclusion I follows.
B. Only conclusion II follows.
C. BothI and II follow.

D. Neither I nor IT follows.

Ans Jl.B
& 2.A

Question ID : 988837812
Status : Answered
Chosen Option : 1
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X 3.D
K 4c
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Q15 51 Yllat olRes HIEIA oiHiA 2131 uRaell sau? 213 5312

A. %l 2015
B. YUY 2014
C. YCU® 2015
D. %ol 2014
Ans X' 1.C
K 2.A
W 3B
/X 4.D

Question ID : 988837740
Status : Answered
Chosen Option : 1

Q.16 &l 5lue Ag &2

A, ellzusllus (cicl Bank) oo, tlRdell Yot stelsidl U@Ll (CE0) ua yoiu BEas (MD)
B. GAustéell (Flipkart) 28U Ueil 5112

c. AUAGDSHL Yasluoss PR As ekdla

D. &5 elacllal wallauzl

Ans x 1.C

Question ID : 988837738
Status : Answered
Chosen Option : 2

Q.17 Asizt A&l wdell 62 1 HBEA Uk el 81wt 2wetl £2 UL s WssH 23Mell EllA Al A B. A
d £la adetl wd 3.1,96,8514( ysagll 52 B Al A yed dad sd?

A. Rs. 168,000
B. Rs. 175,000
C.Rs.. 179,000
D. Rs. 184,000

Ans X' 1.D
K 2.c
5 3.A

Question ID : 988837777
Status : Answered
Chosen Option : 4

9/3/2016 9:27 PM



8 of 45

W 4B

file:///C:/Users/RAHUL/Desktop/QP/rrbntpcpapers/Qp (2).html

Q18 auSlAlY (Mycology) 9 B?

A. olsdlRulol weu (231 s dsdlRu)
B. $o(loll e (29 25 $o0)
C. claRyell weA (23] s alrdly)
D. URcllAloll e (el g WUB2A)
Ans X' 1.C
& 2.A
/< 3.D
W 28

Question ID : 988837752
Status : Answered
Chosen Option : 1

Q.19 Rearrange the jumbled letters to make a meaningful word and then select the one which is different.

A. ANDOMY
B. STEAUDY
C. DIARFY

D. DHAIOLY

Ans X' 1.C
W 20D
X 3.B
& 4A

Question ID : 988837813
Status : Not Attempted
Chosen Option : --

Q.20 UFaHl s cuzdla Aelustsld, WHRAGAL Yot E=me’ A Uy2e] A 2ells Wssw EARML % w2
8ol Wy ad
A clyels HiE
B. 2A%Fos Ul
C. wWwa gl
D. Fle] WEAH

Ans X' 1A

Question ID : 988837753
Status : Answered
Chosen Option : 2
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Wv2c
/< 3B
S 4D
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Q21 g2 (AW 9 B2

Ans

A. wRelecll wddmiounHl e QauHl Ay Blwr
B. 95 Yuvallct 2w s(ad
C. Ul eurdell As weu(Hs Ad
D. ol uele] wBE
X 1c
N 2.B

W 3A
5 4D

Question ID : 988837735
Status : Answered
Chosen Option : 3

Q22 of| Aotmiell 9. szl cdloyurs Bl Yusla g vl «2ll?

Ans

A. [5G (Nickel)
B. clluis (Iron)
c. AyRRA2H (Aluminium)
D. Alslel (Lodestone)
K 1LA
N 2.cC
W 3D
S 4B

Question ID : 988837747
Status : Answered
Chosen Option : 2
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Q.23 2R § Azl ML 31aEU w2 6 g, AR § Ml AlezA 80 km/hr ol assuall Actid . udg § AR WA
URcuzell Wl G . @ § A AUtz 60 km/hr victtelA Bel ol 35usll Uz 53 9. €2 sk Beell Question ID : 988837775

Asig WA Be Status : Answered
A 10 ARz
B. 12 MRe
c. 15 B2
D. 20 Rz

Ans X1 A
S 2.B
/< 3.D
W ac

Q.24 24 scltsHl ¥ecll auld W sELsell wUa Bleall sicl Asollont uR WA B?

Chosen Option : 3

Question ID : 988837773

A. 20 Status : Answered
B. 21 Chosen Option : 1

cC. 22

D. 24

Ans o 1.C
& 2.A
/< 3.D
S 4B

Q.25 12 bectis Rusll A uel dzels gl «ulel 8.

Rl Question ID : 988837811
A lotslGu A AsBlet el A BUCLSAUHL HAC GECACll Hul 51611 D5 516 B.

B. O, ¥ AAs1GY AuMic] Hut u2s B
ctzall: Chosen Option : 4
1. sl fleAslGu AuA satell Beumi Al mollecuHi olecia udl wAdl.
I1. wollselHl (ecielsll WRAG AUHR HIA CO, A 518 WA B.
A AL dlRelHLE 53 el A bl Quedld waudla dlEs da sleal wad 8 A il siél.

Status : Answered

A HIA LRG| AR D
B. HIAL llRBL Il AR B.
C. 1A Il (R B B,
Dol dl 1} ol Il U B

Ans X' 1 A
K 2.c
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W 3D
X 4B

Q.26 s uefl As wiaddl A Al Avauulsll oeusz 528 B, dell Al tiell dvau alel.

Question ID : 988837762

A 18 Status : Answered

B. 20
C. 22
D. 24

Ans X' 1B
A 2.A
Ws3c
/< 4.D

Chosen Option : 3

2 AL 3U AU UA ‘orell 1eoleLs allul. Question ID : 988837783

Status : Answered

2 3 2
;ﬂ—gb-t-C—Za—[—S[b—cJ—Ec Chosen Option : 3

A.-4/3
B3/ 2
PR
D

-7
Ans X' 1.B
X 2.D
Wv3c
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Q.28 %2tz Qe o2 50 Ao, 50 Ustllet A 65 HUUARAR uwL YHIEHL [Qetdlel s2aUHl e u
Ag weiel v 3 625 5 crgelld Blarel seeiml wey « od. A Reansllullell divay albl Question ID : 988837769
A5 Status : Answered
B. 20 Chosen Option : 2
C. 15
D. 10

Ans ' 1B
vc
X 3.A
/X 4.D

Q.29 s sz S5, ‘doctors are ethical’ A 921 Adll AWML A B, ‘medicines are coatly’ & 526 dAfl} uA

‘madicinas are prascribad by doctors’ A 28693 cifls Gual WA B. 5l Wis ‘madicines’ o WAREL 5% B Question ID : 988837792
A9 Status : Answered
B.2

v 1 Chosen Option : 4

b6
Ans X' 1. A
K 2.cC
X 3B
W 4D

Q.30 1 dl v Ml 53113422 FotRalotoll AUl 54 WUl

A, doyi oo, 2R, 8@Ide ule, dAAUME (VLs) B AUR, YTATUME (ULSI) Question ID - 988837759
HIBYRR Status : Answered

B. gUedReR, dseyi eoot, BlRI3e e, dlAeBums (VLS) HIBHYANR, yBlaBlauy Chosen Option : 1
(ULSHHBA AR,

C. gBKeR, dsyH Yol YAANNBMY (ULS) HBsUANR 823z ulEe, dAaRuus (vLs))
HBSAMR

D. dsyH 2yl glediRer, sl@de ulEe, YAAAUMY (ULS!) HIBAUANR, (AADAUBE (VLSI)
HBSYAUR

Ans &X' 1.D
X 2.8
W 3A
F N
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Q.31 <13 2ufet @At clall et Astt Atate yilal wenol il

2B e atHiell Begeet Yol udlaen 12 As el Hoe sl B wudl # A wea 592, aldl Question ID : 986637824
5318, siu 531, 214 el eugn arudlAl A dlasl sozea2 wecl wivll B, Bl wx Wz GAs s2a1 yrddl Status : Answered
£2 8. detsll elat uaA dat udell Fell acl detsll ay Hao oletell €lul B, 2T Boe2dz A As Wl cixg

Chosen Option : 3
(luxury)A GEA 35 wgdlaid oiell Al B. udd Aetl Welotl 2000c N2g21el uel B, P

w0 Quedld o danisll 53 dlegl veud 82

A, Bezzde W Ws Al 2l ag (uxury) B B £25A uzad dx @l

B. wUF wuEl ¥ dezeAzal Gualal 533 18 Al sl weusl Yo HiedlA sdl edl,
C. Wbl sud 52l Qe Be2292 R leud Weie 5380 HlA.

D. 8e22512 gl HIBdl waocuall Holl 25 .

Ans X' 1A
K 2B
W 3D
F N

Q.32 %] LONDON W 927127 ® sl NORMAL A 728359 & cll RANDOM W & )
Question ID : 988837793

A. 857125 Status : Answered
B. 857213 Chosen Option : 4

C. 857123

D. 857215

Ans X' 1B
< 2D
& 3A
v ic

Q.33 Select the alternative that shows a similar relationship as the given pair -

Question ID : 988837801
Sphere : Hemisphere Status : Answered

Chosen Option : 2

Full Moon : New Moon
Desktop : Tablet
Square : Triangle
Full Day : Night

°C 0w p
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Ans
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Q.34 Rl ewrdla Raz (PBD) st aRl g uuAl 8l A s 23 ad?

Ans

A. Az Actaals WeldlA ale saell Rar, 154l w2jaudl 2013

B. 8ldad MR ARFHUAN YoHloclsll Ray, 174l yeus, 2014

C. HateHt atitll 9] enoRpudl, 191541 Aoy, el wBEsiell Hows west g2l A Hetlaeal Ra, 9
%leyldl, 2003.

D. 2l veet @sdl alrdelletl 285 Yeizcllol (Economic Resurgence) ol Hollelellall B e, 16l
A100R,2014

A 1D
v 2c
A 3B
X 4 A

Question ID : 988837727
Status : Answered
Chosen Option : 3

Q.35 As Blalgletl wruAleAl BItR 2:4:3 B, dl A Ul UseAl Azl B2

Ans

A As sleslel BswL
B. A5 dysla Asa
C. A JJ25LL Rsel
D. Ws AUy B8

F G Ne
X 2.D
5 3.A
W 4B

Question ID : 988837771
Status : Answered
Chosen Option : 4

9/3/2016 9:27 PM
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Q.36 - e
What 1s Melioidosis? Question ID : 988837724

Status : Answered

A. Skin Rash
B. Memory Loss
C. Infectious Disease
D. Chronic Pain in Joints
Ans X1 A
5 2B
X 3D
Wvac

Q.37 WSl (LED) wa AAsAA (CFL) ru, AHIeA ol ololle] it A B, dof 5281 B

Chosen Option : 2

Question ID : 988837754

A. Gl E&ldl (energy efiiciency) Status : Answered

B. Byadlug
c. ®racl Guaet
D. udcusll Rsiet asL 8l

Chosen Option : 3

Ans X' 1.D
K 2B
W 3A
F N
Q38 42 Al ll. Amof I, oA Aeuniell 53 [Auuet WG B2 Question ID : 88837745

A. QHA 195411 GllRcl el YRR UM Ledl el Status : Answered

B. AHEl o 1930H1 dAlAcd WRARS ).
C. AHell %o dfcaisHl 1988HL Ul sl
D. AHa 198741 dltseell Gl Holl sdl.

Ans 1.B
2.A
3.C

Chosen Option : 3
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4.D

Note: For this question, discrepancy is found in question/answer. So, Th
is question is ignored for all candidates.

Q39 a.l?,[l.l-li. IH A (?) o 3lldl Question ID : 988837797
6. 14 24. 367 66 84 Status : Answered

------- Chosen Option : 4

A. 40
B. 50
C. 42

D. 43
Ans X' 1.C
S 2D
& 3A
W 4B

Comprehension:

ol WA HBAA c2llotHl Al uaA Aol UL Yaloll ellod Bl

WA gl - sneR, Haulell fl, Hlg, wis ol HAA WA cllecHl, As sANHL, S Wanl sHHL LA 3l
HBl A HL AUAA B, SIAYUL FHE

1. 3l HeaHl ¥l clleetHl ot dl H3l 3 Hauwell oyfl 8.

2. BeAdll As cllecAnl wis, snel ¥ Haulell sl asll.

3. A stell ey uR R ollecHl =it dl Huell sl 3 ol wis 8.
4. ol llect sIAY HBl st Yl wHEl | Hl§ B.

SubQuestion No : 40
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0t dlel wHell ol uR ™l clledHl wL 8 B Question ID : 988837808

Status : Answered

A. H? U.l.ﬂ'ﬂ '@iﬂ Chosen Option : 2
B. M3l
C. Wis

D. o(lER
Ans \fl.A
X 2.8
X 3D
X ac

Comprehension:

ol WAl HBAA c2lotHl Al waA Aotl UL Yslell allod il

A clal — s01ER, HRUlell 8l Hl§, uis ual HAlA Ui clleEHi, 35 SACHL, sL ANl 5HHL S &L
B HBL AUAHL AUAA B, LA wHE

1. 3l el (Al clleetHl ot dl #3l 3 Hruell o8l 8.

2. Beadl As cllectHl wis, snER 3 Hulell gyl aisll.

3. el stell ey uR 2@ cll ollzetHl ol ol Huell sl & ol wis 8.
4. ol dllecdt sIAl wHBL st Yl wHEl | Hl§ B.

SubQuestion No : 41
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% uls A stoll aueyadl sllecHl 25l B. Question ID 988837809

Status : Answered

A. l-l%@ﬂ Chosen Option : 1
B. 2l
c. Al

D. wiuHl
Ans of 1.B
X 2.A
X 3c
X 4D

Comprehension:

ol WA HBAA calatHl Al WA Aotl UL Yslell wallod il

Ui cacll - g0ie?, Heulell ¢l Hlg, vils ual Ml i dlectl, As sANHL 2SL AUl sHHL SIA 2l
o HBL vl Hl AUAA B, SIAYUL ¥HSl

1. 3l el (Al clleetHl ot dl H3l 5 Hruell o8l 8.

2. Beadl As cllectHl wis, snER 3 Hulell gl «isll.

3. alel stofl oy uR ¥l cllecul ol Al Hauwoll g8l & ol wis B,
4. ol e SIAYUL wHElL siA &l wud ui Hlg B.

SubQuestion No : 42
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% A udcll ollecHl AL ¥ B Question D : 988837810
Status : Answered
A. Hﬂ Chosen Option : 2
B. HRulol sl
C. Wls
D. oUlE=
Ans X 1A
W 2D
X 3.cC
X 4B
QB e U Us C{!iﬂ'l"ﬂ Alell Hlal 2-[[U.5l31 8. Question ID : 988837786
Status : Answered
A. u@u Chosen Option : 3
B. callH
c. B
D. #HLOL
Ans X' 1.C
< 2D
W 3B
F W
Q.44 2 cuSulloll GHR 5:8 B Ul AMell GUR coll dslald 12 B, aAnell Gz gl i
Question ID : 988837770
A. 20, 32 Status : Answered
B. 16, 28 Chosen Option : 1
C. 18, 30
D. 22, 34
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Ans  of 1A
K 2D
X 3.cC
/< 4.B
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Q.45 A trader marks his goods at 25% above cost price and allows a discount of 8%. What is his profit %7

Ans x 1.C

Question ID : 988837780
Status : Answered
Chosen Option : 2

Q.46 sylesell BlewHloow Real, 53 oux Aweldawell @l A3y Axgdsl Guellol 53 B2

A. B4 (Jhi)

B. 2llellsl (Ganoda)
C. HgR

D. RUHYEYR

Ans X' 1D
vc
/X 3.B
F W

Question ID : 988837737
Status : Not Attempted
Chosen Option : --

Q_47 3 years ago John’s age was 12 and Sankar’s age was 15. What will be their average ages be after 5 years
from now?

A 215
B. 225
C. 185
D. 195

Question ID : 988837781
Status : Answered
Chosen Option : 3

9/3/2016 9:27 PM
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Ans X' 1D
K 2.c
/5 3.8
v W
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Q.48 F’s father is the son-in-law of G’s mother’s husband. How is G’s father related to F?

A. Father

B. Grandfather
C. Paternal Uncle
D. Cousin Brother

Ans X' 1 A
v 2B
F S:Ne
X 4.D

Question ID : 988837806
Status : Answered
Chosen Option : 2

Q49 ol Ao Higll 585 AWl oltell 2uvau B2
3/4, 3/5, 3/7, 3/8, 3/1

A. 3/4
B. 3/7
C.3/11

B. 348
Ans &X' 1.B
X 2.D
W3c
K 4A

Question ID : 988837765
Status : Answered
Chosen Option : 3
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Q.50 % PROPERTY = RTQRGTVA, cdl HANDSOME =

A. JCPFUGOQ
B. JCPFUOQG
C. JCPFUQGOQO
D. JCPFUQOG

Ans X' 1.C
X 2.A
S 3.B
o 4D
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Question ID : 988837794
Status : Answered
Chosen Option : 4

Q.51 59 2 56 eclio] MU B - @l N3 B3 Y <R { 512 G, el Wos 83 3 Az & @A TR (Live as if
you were to die tomormow: leam as if you were to live forever- oot Acl A Pl 3 516 ¥ Yoy Aol B WA
alluiel oietdd Blell 1A 2l ¥ wpelelle] R HE B)

A HaleHL Ul

B. Uld walsacuel 23
C. AT AULEE 5ELH
D. AEEL

Ans X' 1D
W2 A
X 3.cC
2~ 4B

Question ID : 988837733
Status : Answered
Chosen Option : 3

Q.52 The HCF of 252, 294 and 3#8 1s 42, what 1s #?

o oW
[=.= RN S [ - ]

Ans J

=
0O

Question ID : 988837768
Status : Answered
Chosen Option : 1

9/3/2016 9:27 PM
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K 2.A
X 3B
5 4.D
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Q.53 Who 1s Joaquin "El Chapo" Guzman?

A. The shortest man alive
B. A Hollywood film director

C. A Brazilian soccer star
D. A Mexican drug Lord

Ans X' 1B
K 2.A
W 3D
F N

Question ID : 988837725
Status : Answered
Chosen Option : 3

Q5

e D Y s
AULEIU U (15—5) & i5k)
A. 7/11
B. 11/7

c.8/n

D.11/8
Ans X' 1A

K 2D

W 3B

F N

Question ID : 988837766
Status : Answered
Chosen Option : 3

9/3/2016 9:27 PM
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Q.55 Four pairs of words are given. Find the odd one out.

A. Angle : Angular
B. Poverty : Poor
C. Richness : Rich
D. Adversity : Prosperity
Ans o 1.D
S 2.B
X 3.cC
& 4A

file:///C:/Users/RAHUL/Desktop/QP/rrbntpcpapers/Qp (2).html

Question ID : 988837802
Status : Answered
Chosen Option : 4

Q.56 What iz Geodesy?

A. A Branch of Aeronautics

B. Study of Ieebergs
C. Study of Mountains
D

. Branch of mathematics dealing with the shape and area of earth

Ans X' 1.B
& 2.A

W 3D

F N

Question ID : 988837758
Status : Answered
Chosen Option : 3

Q.57 cflyallet, Hiolel, WU (Apastamba) WA Sllllet 512 B?

A. Yllet eiacllal Az, Bl eeAlRHL &l
B. Glctell Ylflet auEldgumsllaAl

C. Willet ol 2eal(Ms ddl

D. Willet etldell B2l

Question ID : 988837760
Status : Answered
Chosen Option : 4

9/3/2016 9:27 PM
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Ans  of 1.8
K 2.c
/5 3.D
5 4 A
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Q.58 Which city will host the 2020 Summer Olympics?

A. Rio de Janeiro
B. Madrid
C. Tokyo
D. Chicago
Ans X' 1B
K 2.A

A 3D
W ac

Question ID : 988837736
Status : Answered
Chosen Option : 3

Q.59 Which of the following ships from Japan was in Chennai in January 2016 for a coastguard exercise
between India & Japan?

A. Shouyou
B. Acba
C. Echigo
D. Lynx

Ans X' 1A
v 2c
/< 3.D
/X 4.B

Question ID : 988837722
Status : Answered
Chosen Option : 1

9/3/2016 9:27 PM
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Q.60 u-Rgllealsl, ¢og-dldcll A Hive-Rgidot Aus 58l ecl?

A. vl
B. GL&Ld)ld
C. GlRsAURL
D. clRIe(AR?

Ans X' 1.C
& 2.A
/5 3B
W 4D

file:///C:/Users/RAHUL/Desktop/QP/rrbntpcpapers/Qp (2).html

Question ID : 988837761
Status : Answered
Chosen Option : 2

Q.61 gt al? H(E2e] ciusim saul ysiRell unaflell s2cunl i sd?

A. 2up3 (Rl 2lat)

B. Jellsse

C. Aos2et

D. ARAUUSIEL (Hiolet)
Ans { 1.B

X 2c

X 3A

&S 4D

Question ID : 988837743
Status : Answered
Chosen Option : 1

Q62 Aoy wA s, dAHL Glleldl AHIRL @=L

A. dBe
B. Ristcllo
C. d¢o)

D. 595
Ans X' 1B

Question ID : 988837728
Status : Answered
Chosen Option : 3

9/3/2016 9:27 PM
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K 2.cC
W 3A
5 4.D
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Q63 (x+38)" UA (3x-58) A A Y25 Sl B. A Axiall el vgua N

o
A 74

[+]
B. 88
c. 92
D. 106

Ans  of 1.C
/< 2.8
X 3.D
F W

Question ID : 988837785
Status : Answered
Chosen Option : 3

Q.64 “cy1eyg wllot MLl 231" (Life on my terms) Slo{l WicHsUL B?

A. 2RE UalR
B. atgll &3z
C. Aclel AL
D. uglel Huial
Ans X' 1.C
X 2.D
WA
X 4B

Question ID : 988837723
Status : Answered
Chosen Option : 2

9/3/2016 9:27 PM
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O 2 75 A Aefzu uAaldd wEl ‘y gldl. Question ID : 988837784

Status : Answered
Chosen Option : 1

A. 285

B. 115
C.15

D. 205
Ans X' 1.C

&S 2.D
/5 3B
W 4A

Comprehension:

Study the following diagram and answer questions based on it.

The diagram represents the number of people in a society, who like Bollywood Stars A, B and C.

80

20 150N\ | — sws

100 50

SubQuestion No : 66
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Q.6 What is the ratio of people who like both Stars A and B to those who like only Star C?
6
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Ans (1,(;

Question ID : 988837817
Status : Not Attempted
Chosen Option : --

Comprehension:

SubQuestion No : 67

Q.6 % clslA 1ol Rl B oAl 82t Astiell F0A Hiat R A 2l 82t Al JJglar 8

7
A.1/5

B. 8/5
C.9/5
D. 11/5

Ans ' 1.D
X 2.B
X 3.A
Wac

Question ID : 988837815
Status : Answered
Chosen Option : 4

Comprehension:

SubQuestion No : 68

Q.6 % ASA £ AQa Rl -l A2 A BA Hzt Rclial B A Retizl € et et cvell v el
8 dsdd d

A. 120
B. 150
C. 100
D. 130

Question ID : 988837816
Status : Answered
Chosen Option : 2

9/3/2016 9:27 PM
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Ans 1 A
X 2.8

W 3D
F N

Q.69 5 E5IELR Wtlet 32cll Hizetl Aollefl dAmel A2l Al Qotaer? 218l Ao HUESA uagudA AR
B- Question ID : 988837822

1. 2ellel 52cllell B Uwell Buc e25 wy Bs 315 2 3.35 dla Status : Not Attempted
2. 9 wojudlel, ulsiHl ilsl 90 DsHle] weculs S Uy A Hga.

3. AL 8¢ D AlssH Yslee] w2 8ld WA
oAldeunisll =l el s A AMell gsiotil el Hondlz

A L3 Ful ociicie o2 B, Foll Asu €ls Bud 3.27 8 WA £2 waallRa deu 85 Azl Yz B,

B. Mol £2 SlsH €le (Bl 3.31.50 B, AML Yulse] 2riz B v Aol £2 wWeclBA 73 Asu A B,
C. H el £2 WeallE3 95 Asll 2wz B, dedl Asu €l Bud 3.24.5 B A Aui WAs WE5UG w2 B,
D. s ol €2 s €ls Bl 3.19 B, A 9o dlcloll e B uaA €2 s Aol 120 AsHl A B,

Ans X' 1 A
& 2.D
/5 3B
W ac

Q.70 (1A WUs €Ll (A) Ual Ws 51201 (R) WAL B.
eldl (A): 8ls cllar wWse A ([Aetlat Slotl w2 Bl B.

Chosen Option : --

Question ID : 988837823
Status : Answered
31268l (R): 515 cllaRk Alsea 515 il Hisellatt cllaruizll stacuni wa ], Chosen Option : 3

Ul @seus uie 53

A AU R GA AA B Ul R A A ofl Al adxcl .l B

B. Aol R OlAd WA B, U R W A ofl a2l el otall auud
CAAAUYD WRgRAVE B
DARNVE D, WgRA WY D

Ans  of 1.8
X 2.cC
& 3A
5 4D
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7t AL el (English Ivy) 3 8?2

A. U5 YRlg Als? cloL
B. oslalcll 2d1e] As 5
C. YANUAHIA (USA) A5 UM DI ©ls
D. A5 yslall sbAal Ul
Ans X' 1D

& 2.A

/5 3B

W ac
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Question ID : 988837739
Status : Answered
Chosen Option : 2

Q.72 %l GUWAHATI & FTVZGZSH dl¥ clulld &latl, dl CHANDIGARH & l £ld culdl

A. BGZMCHFZQG
B. BGZMHCFZQG
C. BGZMHCZEQG
D. BGZMCHEZQG

Ans o 1A
K 2B
X 3.cC
S 4D

Question ID : 988837795
Status : Answered
Chosen Option : 1

Q.73 Rlcitoll Hiciell eud 3 cllguetl Eeliotl Mcioll €15 B. oot elelal A R34 wa s €53 B.
il Mol cflen Al gl Aoit B2

A Hicll
B. tdat
c. Ugs (38l & 3aw)
D. L€l

Ans X' 1D
S 2.B
Wv3c

Question ID : 988837804
Status : Answered
Chosen Option : 3

9/3/2016 9:27 PM
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K 4 A

Q.74 eyl 2016M0 S6EAA (WTA) Rlsel se2zAgletct-ol MRl socd ARsBAd WA w2 A
UA HBu BOR 53l @su A Question ID : 988837730

A 50edA soc Al soacunl Ry Ronestdl Al syell caell WiEe Redlul Status : Answered
B. Wl Azui (Straight Sets), AR sSAA Weieidl As Wt suey du

C. a3l el 2ol 29 e seict A i, 22 o ogell 2818 dlsll
D. audl ey seed Tundi wlell #sul Weell Bsy dlsE

Ans X' 1.B
K 2.D
A 3A
W ac

Chosen Option : 4

7 HAAlet (Abalone) 9 &7 Question ID : 988837731
Status : Answered
A. aﬂ ‘:lla (‘ll_i]_ Chosen Option : 1

B. A5 cllo] ASLS B2
C. wHlolell olA 2iag 222

D. A5 wlal UHA WA (snail)

Ans X' 1B
K 2cC
W 30D
F W
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Q76 ol Actimigdl SlettHl B8AAGS (Ethanoic) WRS B?

A. dlogall 21
B. oll29(lell 2
C. ¥¥¢ [AaorR
D. 2R2l 5uy
Ans X' 1A
Wvoc
S 3.B
5 4D
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Question ID : 988837749
Status : Answered
Chosen Option : 1

T AR(ML oH UAA (?) A 2l
AN, BO, CP, DQ, ER, F$,?, HU......

AU
B. JW
C. KX

D.GT
Ans X1 A
X 2c
2~ 3.B
o 4D

Question ID : 988837796
Status : Answered
Chosen Option : 4

9/3/2016 9:27 PM
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Q.78 U5 @R Aletl. ywu 33¢], * 2l Mgl uell, cedl, A 1Al Radloll Bololl Mt 8.7 Yoyl asl wa

al dely 37 Question ID : 988837805
A Wy Status : Answered
B. el Chosen Option : 4
C. Hidl
D. ag

Ans X' 1.C
W 2D
/X 3.B
K 4A

Q.79 st cAetl wieiflsciell agiamiul Yul s2ausll GRa uesudl 3eells Hoadl wa casill, _
BARsUotl 821 WA Uil B wA AR 2 AR 2l ovtel B Question ID : 988837751

A. B3R5 AERERUREI (Genetic Engineering) Status : Answered
B. 5@l (Cloning)

c. W60 RAsae (Embryo Selection)
D. YBESU (Eugenics)

Ans  of 1D
A 2.A
/5 3.8
F N

Chosen Option : 2

Q.80 5 WssH 25H UR 5Xell 62 3 ol HIBell HIEL 2l UA Ul ey Aol sl 31448 B, A yead
qlll. Question ID : 988837776
A. Rs. 1850 Status : Not Attempted
BHiRa1589 Chosen Option : --
C. Rs. 1899
D. Rs. 2160

Ans 21 A
/< 2.8
X 3.D
v ac

34 of 45 9/3/2016 9:27 PM



35 of 45

Q.81 Bauslal vl - Baslaiall cetcudell @382 WIURL (teracotta sculptures) 2cAFU- 5L B3l YaH ¥HL2e]
A2l £ald &2

A llat

B. Griz AR
C. wsdes

D. alulet

Ans o 1A
X 2.D
/< 3.B
F S Ne

file:///C:/Users/RAHUL/Desktop/QP/rrbntpcpapers/Qp (2).html

Question ID : 988837732
Status : Answered
Chosen Option : 2

Q.82 % 5 tand = 4 &la cll, (3 sind - 2 cosd)= (2 sind + 3 cosb)e] HEU 2lldl

A 6/23
B. 2/23
C.4/23
D.5/23

Ans X' 1.C
K 2.A
W 3B
K 4D

Question ID : 988837787
Status : Answered
Chosen Option : 3

Q.83 lBereltotoll “@QAN ANl Rgic’ (Theory of Special Relativity), WUl UdCl ....... .Ml 2% 5212l 5l

A. 1915
B. 1905
C. 1947
D. 1906

Ans  of 1.8
X 2.C
/X 3.D
K 4 A

Question ID : 988837746
Status : Answered
Chosen Option : 1

9/3/2016 9:27 PM
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Q.84 oflAcitHisll sau a5t Ytllotell %eH, elctal 2alcalcdl Hoall ugfl gl ecdl?

A. HolHledl Ry
B. . &. 9%3AA
C. A il

D. ol2ost HIEL

Ans X' 1.C
K 2.A
/< 3.B
o 4D
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Question ID : 988837741
Status : Answered
Chosen Option : 2

0% 634785H1 8o{l Ul (GHd g B?

A 8
B. 80
C. 800

D. 80,000
Ans X' 1.C
K 2.A
W 3B
X 4.D

Question ID : 988837764
Status : Answered
Chosen Option : 3

9/3/2016 9:27 PM
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Q8 of| Aofl Hulell Azoll HERULS (mean) 2Ll
80,5 3 291547 2.5

A.5
B. 4.25
C. 4.63

D. 4.87
Ans X' 1D
X 2.c
v N
& 4A

file:///C:/Users/RAHUL/Desktop/QP/rrbntpcpapers/Qp (2).html

Question ID : 988837790
Status : Answered
Chosen Option : 3

87 0.08x0.23+0.004 ol (Fud altl

A. 46
B. 4.6
C. 0.046

D. 0.0046
Ans X' 1.C

W 28
5 3A
< 4D

Question ID : 988837767
Status : Answered
Chosen Option : 3

9/3/2016 9:27 PM
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Q.88 Hofrell ¥ actoitildl wigllett colil wud &, dul, ollAsunisll 59§ wiell wiad o3dll? a B:

A. Ge2
B. oLl
c. @eudl

D. ¢5
Ans X' 1A

X 2.D

W 3.8

K 4.cC
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Question ID : 988837757
Status : Answered
Chosen Option : 3

0% YuRle [AzHict H2R, s usls GuR wdg &2

A. AU
B. sl

C. slraueulx

D. dsalla
Ans X' 1B
W 2D
K 3.c
F W

Question ID : 988837744
Status : Answered
Chosen Option : 1

Comprehension:

9/3/2016 9:27 PM
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o{lA WU We e A5 wouHl CeansllAl gl RHeuHl el JHA-AHAA €20 B.
A ULY ULéa 2llotHl Gl el dotl WLUR Ysloll rallod AUl

Sports

Cricket
17%

SubQuestion No : 90
Q.9 % se 700 Renallal dla dl, BuA Al oA B U FH geellet 9 B Axell 2fvau A2dsll dgtal § B2

0 A3 Question ID : 988837820

B. 77 Status : Answered
C. 84

Chosen Option : 1
D. 112

Ans  of 1A
X 2.c
X 3D
X 4B

Comprehension:
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o{lA WU We e A5 wouHl CeansllAl gl RHeuHl el JHA-AHAA €20 B.
A ULY ULéa 2llotHl Gl el dotl WLUR Ysloll rallod AUl

Sports

Cricket
A 17%

SubQuestion No : 91

Ql-g A [B¥eel [Qewols] uldRklcel 56l elotetl valle] Hiu g B

Question ID : 988837821

o Status : Answered
A. 118.8 .
Chosen Option : 2

B. 100.8°
£, 78.2°
D. 61.2°

Ans X' 1.C
W 2D
X 3.B
X 4A

Comprehension:
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o{lA WU We e A5 wouHl CeansllAl gl RHeuHl el JHA-AHAA €20 B.
A ULY ULéa 2llotHl Gl el dotl WLUR Ysloll rallod AUl

Sports

Cricket
17%

SubQuestion No : 92

Q.9 B QauelA seutsl aMdl Sl dotell Fual geullet AHAl Slat sl Jeliz 8
2

Question ID : 988837819
A 14/11 Status : Answered
B. 22/17 Chosen Option : 4

C.11/14
D.17/22

Ans X' 1A
X 2.B
X 3.D
W acC
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093 YRRt A 52¢llof clgHlot AR QA B?

A. WA SAcA (Ernest Duchesne)
B. [Qede0dl QAR (Vincenzo Tiberio)
C. UAsMALeS52 SAMIL (Alexander Fleming)

D. alad clce? sAldl (Howard Walter Florey)
Ans X1 A
K 2D
/< 3B
v ac
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Question ID : 988837748
Status : Answered
Chosen Option : 4

Q9 o Y2+Y=12, l Y=?

A. 2
B.=1
C. 4

D. 3

Ans X1 A
K 2B

W 3D

K 4.c

Question ID : 988837782
Status : Answered
Chosen Option : 4

9/3/2016 9:27 PM



43 of 45

0% ol ActtHl 3¢ AHLetel el

Penguin, Ostrich, Kiwi, Emu

A. All of them are found in deserts.

B. All of them are mammals.
C. All of them are sea birds.

D. All of them cannot fly.
Ans  of 1D
&K 2.A
X 3.cC
2~ 4B
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Question ID : 988837803
Status : Answered
Chosen Option : 1

Q.96 s Hd 25Rs 1Az (yaell A5 A Us) - BldAA A (vall e WAG B), s wiallet visall g2l usle

A. ABFRU (Rodinia)
B. WAzl (Pannotia)
C. UL (Pangasa)
0. Jlect=dlss (Gondwanaland)

Ans X' 1B
K 2.A
X 3.cC
o 4D

Question ID : 988837734
Status : Not Attempted
Chosen Option : --

Q.97 s 150 m clloll 38et Sakm/hr ofl 035Ul WA B. 4 F6A At Wk (pole) A UAR 2elHl bedll A
@z

A. 8 AsosD
B. 10 Ase5M
C. 12 55
D. 15 A%

Ans  of 1.8
X 2c

Question ID : 988837774
Status : Answered
Chosen Option : 1

9/3/2016 9:27 PM
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K 3A
K 4D

Q98 alrcl WS UATUS D.yusutllsall w9l w 82 Question ID : 988837742

Status : Answered

A. UUS, A5 A wAcl Ws AL B.
B. U5, A% AUl ol AlA ALl curuerR B.
C. talell asl, Alsl slrl uat A gl 8.

D. lRcl el U3 d Ran

Ans X' 1D
X 2.B
Wac
K 4 A

Q.99 5 100 Aldlet wneHl, 86 B 5icl 451 lgl Ac A £lH AR B. ¥ 62 AZA 651 Ylell el At
UA 2132 A R 20l A A, ecl AR gt A AR B A el Question ID : 988837789

Chosen Option : 3

A4 Status : Answered
B. 45
C. 54
D. 48

Ans X' 1.C
X 2.D
5 3.A
W 4B

Chosen Option : 2
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Q'Olo %\ Excellent : Quistanding, then Awesome :

A. Incredible
B. Awful
C. Clumsy
D. Wary
Ans X' 1B

& 2.D

X 3.cC

o 2A
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Question ID : 988837800
Status : Answered
Chosen Option : 4

9/3/2016 9:27 PM



